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CURRENT ELECTRICITY
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COLOUR CODING OF CARBON RESISTORS



COLOUR CODING OF CARBON RESISTORS

RESISTOR COLOUR CODES
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COMBINATION OF RESISTORS

. MARQeTch ' b1 Glzq o . .
If number of registers combined togetherﬂm a circuit then it is

called combination of resistors.
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There are two types of simple combination.
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1. Series combination S?TJIQF%W SyE

2. Parallel combination (HTT-IT i ¢4







EQUIVALENT RESISTANCE ¥HAded Uiaer

If a combination of resistors replaced by a single resistor and

current passes through battery of a circuit remain same then this
resistor is called equivalent resistor and its resistance is called

equivalent resistance.
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SERIES COMBINATION AUfl v HHg

If number of resistors connected one by one from each other in a circuit
and there is no branch between them then this combination is called

series combination.
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*In series combination current through each sesiston will be same.
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*if resistance iIs different then potential difference is also different for
each resistor.
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DERIVATION OF EQUIVALENT RESISTANCE IN SERIES

Consider three resistors of resistance R, R, & R; are connected

In series combination when switch has been on gan equal current
passes through all these resistors we have to find equivalent
resistance of the system.
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PARALLEL COMBINATION HHATATGY &H THge

If two or more re sistows connected In a circuit such as it's one 2nd
connected at one common point and other end connected at other
common point then this comblnatlon |s called parallel combination.
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*in parallel combination potential difference of each resistor will be
same.
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*if resistance of each re<isiy- Is different in parallel combination then
current will also be dn‘ferent
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DERIVATION OF EQUIVALENT RESISTANCE IN
PARALLEL
Consider three resistors of resistance R,, R, & R; are connected

in parallel combination when switch has been on then potential
difference across each resistor remain same we have to find

equivalent resistance of the system.
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